Jessica Rabbit had $85.

How much did she have left if she spent $36.15 for lunch and $24.80 for dinner?

A $24.05 D $48.20
B $25.15 E $60.95
C $48.85

Elmo earns $8.25 from mowing a lawn and $4.90 from washing a car.
Last week, EImo mowed three lawns and washed two cars.

How much did he earn last week from mowing lawns and washing cars?

A $9.80 D $31.20
B $13.15 E $34.55
C $24.75

Miss Piggy earns $7.45 per hour from babysitting the neighbour’s kids.

How much was she paid if Miss Piggy babysits the neighbour’s kids for 3 hours?

A $10.45 D $22.35
B $10.55 E $22.45
C $21.45

Blossom, Bubbles, and Buttercup have $34.50 together.

If Blossom has $10.25 and Bubbles has $11.75, how much money does
Buttercup have?

A $12.40 D $13.50
B $12.50 E $13.60

C $13.40



5 Barbie went shopping with $43.
She bought a puzzle for $6.50 and a pair of sunglasses.

If she had $26.75 left after buying the puzzle and the pair of sunglasses, how
much did the pair of sunglasses cost?

A $6.50 D $11.25
B $8.75 E $20.25
C $9.75

6 Donald Duck wants to buy a pair of shoelaces for his rubber shoes.

If the pair of shoelaces costs $0.90 and Donald Duck has three 20-cent coins,
two 10-cent coins, and one 5-cent coin, how much more money does he need?

A 5cents D 20 cents
B 10 cents E Donald Duck has enough money.
C 15cents

7 Goofy has $1.05 in his pocket.
Which of these could be the coins in Goofy’s pocket?

Two 20-cent coins, eight 10-cent coins, and three 5-cent coins
Three 20-cent coins, two 10-cent coins, and seven 5-cent coins
Three 20-cent coins, six 10-cent coins, and three 5-cent coins

Four 20-cent coins, two 10-cent coins, and one 5-cent coin
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Four 20-cent coins, two 10-cent coins, and four 5-cent coins

8 Barney bought a baseball for $7.78 and a tennis ball for $11.05.
If he was left with $1.17, how much money did he have at the start?

A $8.98 D $18.83
B $12.22 E $20.00
C $16.00



9 Fred Flintstone bought a sandwich for $5.23 and a cup of soda for $2.48.

If he paid with a 10-dollar bill, how much was his change?

A $2.29 D $7.82
B $2.49 E $7.71
C $4.77

10 Kermit spent half of his money on a shirt and 1/4 of his money on a pair of
slippers.

If he had $30 left, how much money did he have at the start?

A $60 D $120
B $80 E $160
C $90

11 If a 9-metre piece of rope costs $3.96, how much does 4 metres of such rope

cost?

A $0.44 D $1.76
B $0.88 E $2.64
C $1.32

12 Gary bought a lamp at a yard sale for $12.

If Gary sold the lamp at an 80 percent profit, how much did he sell the lamp?
(Profit = Revenue — Expenses)

A $20.00 D $26.20
B $21.60 E $80.00
C $24.40



13

14

15

16

Mickey Mouse bought a jacket for $12 and a pair of pants for $20.

If the sales tax for the jacket was $0.66, how much was the sales tax for the pair
of pants?

A $0.55 D $5.00
B $1.10 E $5.50
C $1.50

During the mall sale, a carpet was sold for $140.

If the carpet was sold at a 30 percent discount off the regular price, what was the
regular price of the carpet?

A $200 D $250
B $220 E $300
C $240

SpongeBob has a rectangular garden 12 metres long and 8 metres wide.

If fencing materials cost $12.50 per metre, how much would putting a fence
around the garden cost?

A $200 D $400
B $250 E $500
C $300

If a pack of gum costs 35 cents, what is the greatest number of packs of gum you
can buy for $5?

A 12 packs D 15 packs
B 13 packs E 16 packs
C 14 packs



17 A merchant bought a table at 30 percent less than its manufacturing cost.

18

19

The merchant then sold the table at a price that was 1/7 greater than what he
had paid for it.

The price at which the merchant sold the table was what percent of the table’s
manufacturing cost?

A 20 percent D 80 percent
B 30 percent E 120 percent
C 70 percent

Belle buys wall clocks for prices ranging from $8 to $10 each, and she sells the
wall clocks for prices ranging from $12 to $18.

If Belle sold 10 wall clocks yesterday, what was the greatest possible profit she
could have earned from the sale of the 10 wall clocks? (Profit = Revenue —
Expenses)

A $20 D $80
B $40 E $100
C %64

If the sale price of a television is $306 after a 10 percent discount off the regular
price, what was the regular price of the television?

A $275.40 D $340.00
B $316.00 E $374.00
C $336.60



20 A cash prize of $600 will be distributed among the 20 winners of the contest,
each of whom must get at least $20.

If 2/5 of the total cash prize will be distributed to 3/5 of the winners, what is the
greatest possible amount that an individual winner can get?

A $20 D $220
B $25 E $300
C $200



